Sat Dec 30 13:40:06 2023 wiggle plot,pj=56,psname='pj56wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:03:14 2023 wiggle plot,pj=57,psname='pj57wiggle.ps’,fname=predict path(/ext),

td=9.3d,pd=204.2d



Sat Dec 30 12:02:48 2023 wiggle plot,pj=58,psname='pj58wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:05:17 2023 wiggle plot,pj=59,psname='pj59wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:05:48 2023 wiggle plot,pj=60,psname='pj60wiggle.ps’,fname=predict path(/ext),

td=9.3d,pd=204.2d



Sat Dec 30 12:06:17 2023 wiggle plot,pj=61,psname='pj6lwiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:06:46 2023 wiggle plot,pj=62,psname='pj62wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:08:17 2023 wiggle plot,pj=63,psname='pj63wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:08:46 2023 wiggle plot,pj=64,psname='pj64wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:10:42 2023 wiggle plot,pj=65,psname='pj65wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:40:24 2023 wiggle plot,pj=66,psname='pj66wiggle.ps’,fname=predict path(/ext),

td=9.3d,pd=204.2d



Sat Dec 30 12:41:15 2023 wiggle plot,pj=67,psname='pj67wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:41:53 2023 wiggle plot,pj=68,psname='pj68wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:42:24 2023 wiggle plot,pj=69,psname='pj69wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:42:58 2023 wiggle plot,pj=70,psname='pj70wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:44:02 2023 wiggle plot,pj=71,psname='pj7lwiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



Sat Dec 30 12:44:34 2023 wiggle plot,pj=72,psname='pj72wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:45:06 2023 wiggle plot,pj=73,psname='pj73wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:45:45 2023 wiggle plot,pj=74,psname='pj74wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:49:47 2023 wiggle plot,pj=75,psname='pj75wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d
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Sat Dec 30 12:50:41 2023 wiggle plot,pj=76,psname='pj76wiggle.ps’,fname=predict path(/ext),
td=9.3d,pd=204.2d



